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I Continuing discussion from previous passage — source for mm
a In»"R, some inferred it from 173 191% and some from v. 1 — nwy> van Rxvn 931
II  Reassessing the xn»11 quoted above — the Halakhic flow from o1 >mmn
a  Clause: Just as n»111 associate with Yn’ 53, similarly man
i Question: how does Y 91 affect a 917? If he takes a vow of m713, each Moor has its own definition (v. 3)
ii ~ Answer: each violation of mm is a double-1vn (the specific violation and Yn 91)
b Clause: Just as 07T associate with InRn Yamilarly mvm
i Question: how does Inxn Y1 impact a 1°11?
1 Possibility #1: if he states "T'll be a 7’1 when I desire”
(a) Block: there's no anxn 2
2 Possiblity #2: (x17) if he states "I'll be a 9’11 just before dying" — where it devolves upon him immediately
(a) Model: from pw1
3 Possibility #3 (apy’ 72 RnR 27) if he accepts M7 in a cemetery - obligated to step out immediately and
accept mm
(a) Challenge: only works according to authority maintaining that m7°1 doesn't apply immediately
(b) However: according to 1"n that T'n non m’11 — where's the Inxn 52?
(i) Addendum: according to >wR 19, all agree that Tn n5n mn
(c) Answer: he is still delaying nanoT mm
(i) Consequence: if a v defiles himself, he violates anxrn 91 (of nInoT M)
4 Possibility #4 (Rp’R 277 7712 RNR 17): violates RN Y1 of the shaving (even if it's not 20yn, the m¥n is to
fulfill immediately)
5  Possibility #5: (11 277 772 R0 I0) violates RN Y21 of the 11 129p
(a) Challenge: that's inferred from v. 2 (general inxn 52 of all nap)
(i) Answer: R"T0 we can't apply to 11 j29p since it's a wyTn -
1. question: what's the vym?
2. perhaps: that you can't volunteer a 711 nkon (= can't use for noann)
3. block: regular nxron (25n nrvn) also can't be volunteered, yet ankn Y21 attaches
4. perhaps: since if you declare "partial m7n" (only from grape seeds, e.g.) it generates full m7m
a. blockl: ™ disagrees — you must explicitly declare ma'm from all 3
b.  Block2: this w11 is a stringency — wouldn't block application
5. rather: since, if you only bring 1/3 of the 9>11 1299 when you shave, X%’ —no Inxn 51 - 5"np
6. alternatively: since it can't be vowed
a. challenge: from a9n nron (above) - non analogous, since 29N NXron is for Xon
b.  block: n19y nron is also not for a sin and InRn Y1 attaches
c.  Answer: N9y nRON permits her to eat »WTP
¢ Clause: just as 0111 are repudiated by father and husband, similarly mam
i Challenge: why not infer it from 77 via yxn nna
ii  Answer: we could distinguish and reason that the n7n permitted n>111 n19n since they may be open-ended,
but m'n is generally 30 days...%"np
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